
SAP ABAP table ESERVICE {Point of delivery service}

ESERVICE

MANDT [CLNT (3)]

VERTRAG [CHAR (10)]

INT_UI  [CHAR (22)]

SERVICE [CHAR (4)]

SERVICEID [CHAR (10)]

SERVPROV_PAY [CHAR (4)]

SPARTE [CHAR (2)]

STARTOBJTYPE [CHAR (10)]

ENDOBJTYPE [CHAR (10)]

EPAYFRQ_METHOD

MANDT [CLNT (3)]

SERVICEID [CHAR (10)]

SERVPROV_PAY [CHAR (4)]

 ESERVICE-SERVPROV_PAY = EPAYFRQ_METHOD-SERVPROV_PAY 
0..N

0..N

ESERVPROV

MANDT [CLNT (3)]

SERVICEID [CHAR (10)]

 ESERVICE-SERVICEID = ESERVPROV-SERVICEID 
0..N

1

EUIHEAD

MANDT [CLNT (3)]

INT_UI [CHAR (22)]

 ESERVICE-INT_UI = EUIHEAD-INT_UI 
0..N

1
T000

MANDT [CLNT (3)]
 ESERVICE-MANDT = T000-MANDT 

0..N

0..N

TECDE

MANDT [CLNT (3)]

SERVICE [CHAR (4)]

 ESERVICE-SERVICE = TECDE-SERVICE 

0..N

1

TOJTB

NAME [CHAR (10)]

 ESERVICE-ENDOBJTYPE = TOJTB-NAME 

0..N

{0,1}

 ESERVICE-STARTOBJTYPE = TOJTB-NAME 

0..N

{0,1}

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 ESERVICE-SPARTE = TSPA-SPART 

0..N

0..N


